

# ACP Kentucky Chapter Meeting 2016: Emerging Diseases - Evolving Treatments 10/5/2016

This activity was created to address the professional practice gaps listed below:

- Applying best practice methods for prescribing opioids for chronic pain management.
- Utilizing clinical guidelines for managing type 2 diabetes.
- Identifying the link between Zika virus and neurologic disorders.
- Accurately diagnosing and treating intravascular conditions in patients who inject drugs.
- Identifying promising efforts to diagnose and monitor the course of Chronic traumatic encephalopathy (CTE) disease.

### 1. Please respond regarding how much you agree or disagree that the gaps listed above were addressed.

	Disagree			Agree
Participating in this educational activity changed your KNOWLEDGE in the professional practice gaps listed above. [7-3.57]	(0)	(0)	(3) 42.86%	(4) 57.14%
Participating in this educational activity changed your COMPETENCE in the professional practice gaps listed above. [7-3.57]	(0)	(0)	(3) 42.86%	(4) 57.14%
Do you feel participating in this educational activity will change your PERFORMANCE in the professional practice gaps listed above? [7-3.57]	(0)	(0)	(3) 42.86%	(4) 57.14%

#### 2. Please elaborate on your previous answers. (2)

Solid information, much previously exposed to in other fashions none

### 3. Please evaluate the effectiveness of the following speakers in improving your knowledge, competence and/or performance. (Poor = 1, Excellent = 4)

	Poor	Fair	Good	Excellent
Gregory Hood, MD, MACP [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%
Sathya Krishnasamy, MD [7-3.71]	(0)	(0)	(2) 28.57%	(5) 71.43%
Julio Ramirez, MD [7-3.71]	(0)	(0)	(2) 28.57%	(5) 71.43%
Curtis Cary, MD [7-3.71]	(0)	(0)	(2) 28.57%	(5) 71.43%
Robert Kerns, MD [5-3.80]	(0)	(0)	(1)	(4)

			20.00%	80.00%
William Watson, MD PhD [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%
Anupama Raghuram, MD [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%

#### 4. Please elaborate on your previous answers. (2)

Well prepared speakers

none

## 5. Please identify a change that you will implement into practice as a result of attending this educational activity (new protocols, different medications, etc.) (6)

discuss HIV PrEP more often possibly.

I will change the way I approach pain management using the biopsychosocial model Reflection on diabetic and high risk pre HIV patients

Identify patients appropriate for prep therapy and discuss this with them.

none

n/a

#### 6. How certain are you that you will implement this change?

**(6)** 

Maybe 
$$^{(2-)}_{33.33\%}$$
  
Very Certain  $^{(3-)}_{50.00\%}$   
Certain  $^{(1-)}_{16.67\%}$ 

### 7. What topics do you want to hear more about, and what issues(s) in your practice will they address? (2)

No suggestions at this time

Women's health topics

#### 8. Were the patient recommendations based on acceptable practices in medicine?

**(6)** 

#### 10. Do you think the presentation was without commercial bias?

**(6)** 

### 12. Please provide any additional comments you may have about this educational activity. (1)

none

As one of the participants of this educational activity, we want to encourage you to

implement those ideas that were appropriate to your healthcare environment.

This evaluation is confidential and no individual will be identified by this office (Continuing Medical Education and Professional Development). It will only be used for quality improvement.

We look forward to seeing you at future University of Louisville events. Thank you very much.



# ACP Kentucky Chapter Meeting 2016: MOC Credit 10/5/2016

This activity was created to address the professional practice gaps listed below:

- Applying best practice methods for prescribing opioids for chronic pain management.
- Utilizing clinical guidelines for managing type 2 diabetes.
- Identifying the link between Zika virus and neurologic disorders.
- Accurately diagnosing and treating intravascular conditions in patients who inject drugs.
- Identifying promising efforts to diagnose and monitor the course of Chronic traumatic encephalopathy (CTE) disease.

### 1. Please respond regarding how much you agree or disagree that the gaps listed above were addressed.

	Disagree		Agree		
Participating in this educational activity changed your KNOWLEDGE in the professional practice gaps listed above. [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%	
Participating in this educational activity changed your COMPETENCE in the professional practice gaps listed above. [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%	
Do you feel participating in this educational activity will change your PERFORMANCE in the professional practice gaps listed above? [5-3.60]		(0)	(2) 40.00%	(3) 60.00%	

### 2. Please elaborate on your previous answers. (1) NA

### 3. Please evaluate the effectiveness of the following speakers in improving your knowledge, competence and/or performance. (Poor = 1, Excellent = 4)

	Poor	Fair	Good	Excellent
Gregory Hood, MD, MACP [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%
Sathya Krishnasamy, MD [5-4.00]	(0)	(0)	(0)	(5)100%
Julio Ramirez, MD [5-4.00]	(0)	(0)	(0)	(5)100%
Curtis Cary, MD [5-3.80]	(0)	(0)	(1) 20.00%	(4) 80.00%
Robert Kerns, MD [4-3.75]	(0)	(0)	(1) 25.00%	(3) 75.00%
William Watson, MD PhD [5-3.60]	(0)	(1) 20.00%	(0)	(4) 80.00%

- 4. Please elaborate on your previous answers. (1)
- 5. Please identify a change that you will implement into practice as a result of attending this educational activity (new protocols, different medications, etc.) (3)

I will change my management of opioid dependent patients.

NA

Utilizing PrEP

- 6. How certain are you that you will implement this change?
- **(4)**

Very Certain (2-50.00%) Certain (2-50.00%)

- 7. What topics do you want to hear more about, and what issues(s) in your practice will they address? (1) NA
- 8. Were the patient recommendations based on acceptable practices in medicine?

**(4)** 

(4-Yes 100.00%)

- 10. Do you think the presentation was without commercial bias?
- **(4)**

(4-Yes 100.00%)

12. Please provide any additional comments you may have about this educational activity. (1) NA

As one of the participants of this educational activity, we want to encourage you to implement those ideas that were appropriate to your healthcare environment.

This evaluation is confidential and no individual will be identified by this office (Continuing Medical Education and Professional Development). It will only be used for quality improvement.

We look forward to seeing you at future University of Louisville events. Thank you very much.